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1-5-1. M TIEEFR

T FE T B Bl AL D A =N i W O
227 ) — K 24N/mm” m® 77.0 45.5 122.5
e T m’ 131.3 71.7 203.0
L {bAER m? 94. 4 82.2 176. 6
. = kL Vi 12. 8 9.1 21.9
YT b
e D32, D29 kg 5,512 1, 445 6, 957 SD345
o D25~D16 u 5, 753 4,167 9, 920 )
D13 ” 271 162 433 ”
s I 11, 536 5,774 17, 310 I
Jet 7 A Pt 35 Hm? 225 153 378
VR T R ENI] i il m’ 0.0 53.7 53.7
PIERESN] Tl FER R AT l 0.0 0.0 0.0
F—7(+ w) m’ 755. 1 - 755. 1
PEH T Al F—F@ET) m’ - - 0.0
F—7r (i) m’ - 34.7 34.7
FYiR (- #)  m’ - - 0.0
. 7R ) ) 3 _ _
Ve T i FFIJEB(@(E“IJ) m3 0.0
FOEs (haE) | m - 6.7 6.7
HEL FERIB m’® 287. 1 179. 2 466. 3
-y m® 278. 4
a7 J— | 18N/mm2 m?® - 24.9 24.9
B HRIERE R W m’ - 25.2 25.2
YT Pkt 2 55 #Hm* - 25 25
— 2 _
(R E L 2 L =100 m 285. 8 285. 8
t=50 m? - 47.9 47.9
R R T H-200 = ¥ 3 6 4 10
H-200 T n 3 2 5
DI EYE H200 X 200 kg 499 - 499
200 X 200 kg 699 - 699
5T a7 ) —k m® 2.0 - 2.0
LIt m?* 8.0 - 8.0
FLAft SR EH L —50X50X6 kg 402 251 653
AR R LAV n 1,023 588 1,611 | AKD650X25%1.2
D5 1% 1,008 - 1, 008
st m’ 134.0 - 134.0
GLANHR A U 66. 4 66. 8 133.2
Witz 7 ) — k £=250 m’ 100. 2 68. 6 168. 8
4 5% 150X 150 Il 103.7 71.0 174.7
by k| L4000 B K 8 10 18
L. =4000 T Vi 2 0 2




1-5-1. I THEEGFFR

T f# | mo B AT L A & a5 7 W =

TEA B m 14.0 14.0

a—7 - & 3X7G/0¢ 18 m 14.0 14.0 5A
VA R Hp Sk A 1 4
Ui R A NI 2 2
ay7 Y —hIL m3 20. 3 20. 3
AP T m?2 32.6 32.6
HEEAE#ET wft=rrz)—k m2 666. 8 666. 8
5 A 4xH8 m?2 666. 8 666. 8




1-5-2. & RAIETR T

(1) ik T

\t\»\w& L, 2&6 oo\ K’s\ \ \ \

B

A

\\xwx\\
; m R

a-2

- X/ g

A III\  \\§“|

s A \\

68\2;
1.6
o : </
5 ﬁggé
: SIS IS
o il
Btkm (1:1.5) = X 1.202 (Rl = 0.0 m°

MEAFEMRA T (¢=30mm)
UtgkE (1:1.2) = X 1.302 (gHt) = 0.0 m



(2) HIMAR

1) mkE=

(THEE)

7 U—F

V= {18.500 X 8.681 — ( 3.840 X 7.681 -+ 0.590 X 1.181 ) / 2

%l

%2 %3
+ 11.494 — ( 60.044 + 5.568 ) } X 0.700

( 145.503 + 11.494 — 65.612 ) X 0.700

= 91.385 X 0.700

(fREzE)

V= ( 6.500 X 7.000 — 6.000 X 6.500 / 2 ) X 0.500

= 26.000 X 0.500

(& &)
63.970 + 13.000

2) W R
(i BE SR %1 %4
A= 91.385 + ( 145.503 + 11.494 —
X 0.700 — 7.000 X 0.500
(R BEE 7R )
A= 26.000 X 2 + 0.500 X 0.500
(A& ®H
V = 173.491 + 52.250
(EbETIR)
A= 80.6 + 13.8
(5m T
A= 2257 — 94.4
(> pV)
x5
A = 18.253 X 0.700
X1 WrEDIMa-S A > 23— MEHI
%2 WrEDIIa-S PN 22 1K 1 A
%3 WrmDIa-S A NN—hrarrJ—F
¥4 WrEDIMa-S  AYEHIWHE
%5 WD a-S 7 —F RPN

77.341

= 63.970 m®
= 13.000 m®
= 77.0 m?®

) + ( 1.000 + 7.500 )
= 173.491 m’
= 52.250 m’
= 225.7 m?
= 94. 4 m?*
= 131. 3 m?
= 12.8 m?

11.494 m* NHEAHEFHEELD

60.044 m®> ¥ (3) XLV

5.568 m? HALEEFHEELY

77.341 m* SRHNEHEFHREELY

18.253 m KEHEFHEELDY



3) & 5 (EEHHEY)

D3z = ke — 5,512 ke
D29 = 5,512 kg
D25 = 3,391 kg
D22 = 254 kg _ 5,753 kg
D19 = 399 kg
D16 = 1, 709 kg
D13 = 271 kg i = 11,536 kg
4) & % L
A= 173.491 + 52.250 — 0.500 X 0.500 = 225 #Hm?
SRR bRl
18500
10500 8000
= 1
\g[\
N\,
= & N\ g o 8
g 5 g o \ k= g =
@ § ‘t&.’ \ ©
\\
v ;
‘—) , ? 04‘ 600
6500
3840 1080 5580 5580 1830 b9l
R k)Ll
18500
10500 8000
A=80. 6ni e
/l =15.0m
g AN -
= \ 2
= > = S gl _ ol 8
s.L ﬁ R
N N =D
\_/ 6500

3840

1080

5580

5580

1830

p9q




(3) WZEWrmE

o1

hl

W1

w2

h2

W3

h3

h4

W4

W5

¢ 2

hb

R1
R2
R3
R4
R6

90-01-0

(R6-R1) X

4. 340
8. 680
13. 970
1. 000
6.670

2 =90 —

01
02
03
04

7.150333

7.150333 H
18. 321857
20. 000000
70. 000000

— 18. 321857

cos03 = ( 6.670 — 4.340 ) X cos 20.000000

hl1Xtan 03 = 2.189484 X tan 20.000000

R2-R1-W1

= 8.680 — 4.340 — 0.796907

W2Xtanf 1 = 3.543093 X tan 7.150333

(R2-R4) X

( 8.680 — 1.000 )

cosfO1 -W2

X cos 7.150333 — 3.543093

(R2-R4) Xsinf 1 = ( 8.680 — 1.000 ) X sin 7.150333

H-h3

h4 X tan 6 2

R4 > —h4 * —W4

= 1.700 — 0.955954

= 0.744046 X tan 18.321857

= \/ 1.000 * — 0.744046 * — 0.246385

1.700

cos™ (h4/R4) — 02 =cos™ ( 0.744046 / 1.000 ) — 18.321857

(R3-R4) X

cos 6 2+h4

= (13.970 — 1.000 ) X cos 18.321857 + 0.744046

64.

23.

13.

527810 °

. 189484 m

. 796907 m

. 543093 m

. 444477 m

077179 m

. 955954 m

. 744046 m

. 246385 m

.421743 m

600920 °

056540 m



(1) & ¥ (s1)

AN

=

=)
A

S

3

S

¥ (SI)

X 20.000000 / 360 — 2.189484 X 0.796907 / 2

/ 360 — 3.543093 X 0.444477 / 2

{ 0.744046 + ( 1.700 — 0.444477 ) } X 4.077179 / 2

S1 = 7 XR6 2X 03/360-h1XW1/2
=75 X 6.670 °
S2 = x XR1 *X 04/360
=71 X 4.340 * X 70.000000 / 360
ST =S1+S2
= 6.892370 + 11.506013
(2) © *f (Sm)
S3 = 7 XR2 ? X 01/360—W2Xh2/2
=75z X 8.680% X 7.150333
S4 = {h4+(H—h2)} XW3/2
Sbh =z XR4 2 X (¢p1— ¢2)/360

n X 1.000°

S6 =h4Xx (W4+W5) /2

X ( 64.527810

— 23.600920 ) / 360

= 0.744046 X ( 0.246385 + 0.421743 ) / 2

SO =S3+54+55+56

= 3.913836 + 4.076300 + 0.357154

(3) A4 /3— 1 (SII)

+ 0.248559

X 23.600920 / 360 — 0.421743 X 0.744046 / 2

ST = 7 XR3 *X 02/360—h5X (W3-+W4) /2
=5 X 13.970% X 18.321857 / 360
— 13.056540 X ( 4.077179 + 0.246385 ) / 2
S8 = m XR4 * X ¢ 2/360—W5Xh4/2
=7 X 1.000°*
SII =S7+S8

2.978564 + 0.049059
(4) eNZEEEE (S)

S (ST +ST+SMI) X2

= ( 18.398383 + 8.595849 -+ 3.027623

) X 2

A =L

Se

(SII)

11.

18.

. 892370

506013

398383

. 913836

. 076300

. 357154

. 248559

. 595849

. 978564

. 049059

. 027623

60. 044

m?®/m

m’/m

m’/m

m®/m

m’/m

m’/m

m®/m

m’/m

m’/m

m’/m

mB/m

m?®/m



4) - T

W B 7o) m) |d—ro@ED ) | mow L )
Wrindd cvwimfs N f | Wronde  cpsswmss N2 A | Wrim ke psowtmss 7 AR | WA | ESm R

NO. 10 + 1.00 90. 8
NO. 10 + 3.84 2. 840 124.9 | 107.85 306. 3
NO. 10 + 7.97 4. 130 39.1 82.00 338.7
NO. 10 + 13.60 5.630 0.0 19. 55 110. 1
NO. 10 + 1. 00 0.1
NO. 10 + 1.70 0. 700 0.1 0.10 0.1
NO. 10 + 1.70 66. 9
NO. 10 + 3. 84 2. 140 68. 5 67.70 144.9
NO. 10 7.97 4.130 | 0.3 34. 40 142. 1
NO. 10 + 8.20 0. 230 | 0.15 0.0

G 755.1 0.0 287.1




\\QA]\}%\Q 5 \\\\X
R
W

P \\\%\m\\x\\’\
e \\\

=
i
1ol o]
—
/




700 H >*;»:M$;/é 262. 600m
4
ANY
/yﬁﬁﬂé N
3 LEIEIED
o
3 8
_7L_
- £l
= ©
8 z % S 2
8 s 3
3000 _
1.548 / s1
3 3
sé Fi=2.000% =
= S
™
FH=50.218 /  —




NO. 10+01
FH=50. 218

Pz Lo ol S N 9 | 2 aTI

DL=60.0
(=]
&
]
> DL=55.0
3
2; DL=50.0
FH=50. 218
F—7v (£ #) :  90.8 m? wOR L : 66.9 m?
0.1)
F—7r HeE1) m?

F—7r @AEL) : m?



NO. 10+03. 84
FH=50. 275

ANS BRI kR
DL=60.0
S
4
e,
[t _DL=55.0

0. \;@
%
N

S 0L50.0

FH=50. 275

A= (£ W) : 124.9 m? WoOR L : 68.5 m’
F—7r (WRET) m?

F—=7r (ET) m?



NO. 10+07. 97
FH=50. 357

v //// §%¢L (P2 1%l
DL=60.0
S X
53
—— S
NS _DL=55.0
= ¥
3 5%
7 &/
DL=50.0
FH=50. 357
F—72 (£ #) :  39.1 m? wWoORE L 0.3 m?
F—7 BRET) m?

F—7r (HEl) m?



(5) HLOALER

1) REREmWRATELZ L ( £=100mm )
A —

2) SRR T
AR T — F AR T (H-200 X 200 X 8 X 12, L=5. 500)
TER T — F 3R T (H-200 X 200 X 8 X 12, L=3. 000)

3) SR EE  (H200X200)
W =10.000 m/A& X 49.90 kg/m X 1

4) 5T
H-200%X 200 = 7.000 m/A X 49.90 kg/m X 2
a7 Y—Fk = 1.000 X 1.000 X 1.000 X 2
Zi = 1.000 X 1.000 X 4 X 2
5) XM (L-50X50X6)
< AR
FrEE =2 XX ( 7.2710 X 20 + 4.940 X 70 ) / 360 X 2
TYHEE =2 X © X 9.280 X 10.5556 / 360 X 2
/El\
N = 20.565 / 1.000
s ORI E
L = ( 5.500 + 2.150 ) / 2 + 0.500
= 3.825 + 0.500
cHE W= 21 AX 4.325 mX 4.43 kg/m
6)  HEIEE (F—A R FL—F: AKD650X25X1.2)
cAEHAE
s HE W= 20.565 m*m X 3.825 mX 13.0 kg/m?

7 Wffar 7 V—1F  (t=25cm)
%3 %1 %4 %2
A = 16.361 X 5.500 + 3.420 X 3.000

8) 4&# (¢5X150X150)
*5 x1 X6 %2

A =16.989 X 5.500 + 3.420 X 3.000

499 kg

699 kg
2.0 m?
8.0 m?

17.146 m

3.419 m

20.565 m

21 A

4.325 m

402 kg

20. 565 m*/m
3.825 m
1023 kg

100. 2 m?

103.7 m?



9) wwvZA/ARM (L=4.000m )

b N=
T N=

10) HLAHEH]

8 K
VN

%7 %8
V = ( 46.519 X 2.500 + 19.328 X 0.850 ) / 2 = 66.4 m?
12) o 55, E#t
%9 *10
+oH5% = 40.3 X 0.500 / 0.020 = 1008 £¥
%9
F #H = 40.3 x ( 3.825 — 0.500 ) = 134.0 m?
X1 PRI ERREERBICLS LD LTS, = 5.500 m
X2 FPHHOFMUERIIEEFREBICLZ2bDET S, = 3.000 m
3 B r s ) — b EEE (WALEFEELY) = 16.361 m*/m
4 FERffar s ) — hEE EAREHEELY) 3.420 m%/m
%5 B AeiEEcE (B BEREELY) = 16.989 m?%/m
X6 FrEefEEiE (BABEREELY) = 3.420 m%/m
T RCRREIECE (B BERTEELY) 46.519 m®/m
¥8 ORI E (B BEREELY) = 19. 328 m*/m
X9 LoomEBEmMEEDXLYD) = 40.3 m?
K10 185h7-0 +0 5 KFE = 0.020 m®
o
— _— T \ s
P omy—FEgT| | — | °
o H-200200x8>12 | | |
—F T~ T
5 /«"% T T~ e
s T~ O{REEEwAa L Y—F
T [T Jeowmsa
- 7 H _
//'.“_P
/B
(Jé
/Q\\
$%
g
: B -
=
,///// //
/)




o>

27 \QXQ\

B nEE (F—RrrTL—F)
AKD 650x25x1.2

RHAS k> RIL L=1, 268 000m

700

5566

500

Dto>5H EHt

DL=60. 0

DREEERM TSN
t=100

L-50x50% 6

() o EH

BonEe vo¥ A\

H-200x 200x 8 x 12

SHER L=10000
©5F L= 7000

@®rxmumm
(KT HET) Y ey
7////////////////////////////////////////////////////////////”,, /
/ =

V4

2D EF—FRET
H-200 x 200 x 8 x 12

—

DL=50 0

BN 2NN

1

H -

6) migar s y—+
=250

6) miem

D>, Lt
A= 40.3m2 XIEm

@) 21 EH

L-50 x 50 x 6

QWM7—FHRT
H-200 % 200 x 8 x 12

AFOv AR

® AEEA
Ol =PV
=250
O NER(F—R b TL—F)
AKD 65025 x 1.2

@ 2HER PT
H-200x 200 x 8 % 12

{

\

/

" b T E A

D7 ER L=10000
®»59 L= 7000

S.L

N

D EsgEmEwda s Y—F

/
2 WO Fsmr s

t=100

tlo

e




(6) VEABEM THERRE

MEGERPORLORRERT,
EEMEYRS.

#E 2500+363000+2500=14000

[ESTS ‘ M MR
e /S

EES 2

1500

//

1000

N

15000
8B

L LY K] - T R k) L3 3
| X # H175x 175 x 7.5 11 x 2350 170.7 2 8. Kb, Fo b WK RAHTRRAEAC |

WEXE | RESR $25%500 37 L]

x # 1200 % 100 x 5.5 x 8 x 2350 491 4

74 ¥ O—TMAMUAL k| N2 0.13 20

" 2 | e | ERAMAUAL W3/16 0.01 8

i I mmERH 765 x4 5% 680 156 5

§‘ MBEEH | 74 vo—TMAMUAL K| N2 0.13 20

|
74va—7 3x76/0 618 1 Tke/m 70m
=7 (& W $3.2x50x50 3. Oke/n? 21n?
\‘ 1700 * REHLET  BMERD-E+ANKYIRFALMNEI -T2 (MRALBRE(F—2T59)

(RREE, PR, MMRHNH)

1) v—>7 - 4@

L = 140m

2) Xk

o SRR
N = 4 K

* AR SR
N = 2 K

3) a7 U—F

V= ( 1.200 + 1.700) / 2 X 1.000 X 14.000

4) RUp

A ( 1.200 + 1.700) / 2 X 1.000 X 2

+ ( 1.118 + 1.000 ) X 14.000

20.3 mi

32.6 m




